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1. w7 fMIRRR FefirpiR Teg o 1x8=8
Answer the following as directed :

(@) < Ao ToRT g Rorel RE Req
I3 RoiRkea

If an individual seller in a perfectly
competitive market wishes to double his
sales, he would

() R T T g9TS T 3% TR
improve the quality of his product
(i) ITT 7 T IR

~lower his price
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(2)

(i) Faed “Rw 38 RER I iz fi
offer double the quantity for sale
(iv) Reree Iw I IR
increase the advertisement cost
(7% Rewcor ik Bfenear )
( Choose the correct option )
] i Trews 23 Qw731 sk
R faRE RS . X3
(RS FFA)

Price discrimination will be profitable
when elasticity of demand is in
both the markets.

( Fill in the blank )

o ARFSRER Beoe ARSI SIS
At the point of equilibrium of a perfectly
competitive market

(i) AR >MC
(i) AR =MC
(i) AR <MC

(iv) 8°RI o1 =
None of the above

(A% Rt Rk Bfovear )

( Choose the correct option )

{ Continued )

Yy

(3)
(d) f aferaier IeR wF IR IWTT THS
51 123 SrE 740 |
Mention one difference  between
perfectly competitive market and
monopoly market.
(e) TG 2% ©gI SO P FRfRFA ?
Who introduced social choice theory?
() O ASANSIEF =T IHT© 2 B
T3 o A T =
In a competitive labour market, the
demand curve for labour is derived from
(i) onfe® S Seoma
marginal revenue product
(i) 5 ST Besmwa
total physical product
(iii) 2T ST Beomem
marginal physical product
(iv) A% I
marginal cost :
(313% Rt A Tforear )
( Choose the correct option )
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(4)

(g) ¥R iR Ry Tgm v & o =2
Why is demand for labour called derived
demdhd?

(h) =ifSrfFrerf Tam &2

What is contest?.ble market?

.. R R @ wibR es)e 5 GRt Bt : 5x4=20

Write short notes on any four of the
following :

(@) o efSe.TOR T&RT HRGT wpol
Allocative efficiency under perfect
competitive market

(b) R&

Selling cost

(¢ = Reror R
Oligopoly

(d) & T
Public goods

(e) TR TR

léxid market

( Continited’)

(b)

4. (a)

(S)

o afecairerEe W (e SfeyRIrRE
& 1 TeAm e of afeafenEe
GRS G¥T T ARSI AT ST
S FI, S 3] | 5+8=13

What are the basic assumptions of
perfect competition? Discuss how a firm
under perfect competition achieves
equilibrium under long run.

931/ Or

A AfScaifenEe IR ZFFA F A
QI (FAR &9 <1 2 off aifecafirenere
IGET AT I SN WEFAT Q@ @A
AT P T W, o s o 40
5+8=13

What is the difference between
short-run and long-run supply curve
under perfect competition? Explain with
the help of diagram how a long-run
supply - curve is derived from a
decreasing cost industry under perfect
competition.

GITHTOA TS ZTFA SF LA 71 o

B @FeAes s 30 =, I 0| 13
Explain price and output determination
under monopoly firm in the short run
and long run.
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(6) | (7)

©%31/ Or : (i) =R IHTS ST THR TSR fo | 3
- State the conditions for achieving

b) TRT o e o Wﬁ@w & ‘ equilibrium in a labour market.
oE G A IwRT Twe 1w —
Aot 1
Mention the differences between (b) §§W iR 2 Paw e S
perfect competitive = market and BITRAT T T 3 | . 13
monopolistic competitive market with . What is input demand curve?
the help of suitable diagram. . : Explain input demand curve with the
help of diagram.
5. (@) wprd U i R Jom 2 aftge o o , L kkok
TS Reif & qrem w51 Srremep mam 41 1
3+10=13

What do you mean by asymmetric
information? Discuss with examples the
two concepts adverse selection and
moral hazard .

9{1/Or
() I=R AfFER Reee [ Iw” e Res
I IR JT 30 | 4+9=13

What is market failure? Explain the
causes of market failure.

6. (@) (i) ToMII @S T TR R
Toroim F1 | 10

Derive the proﬁt—maxiinizing
conditions in input markets.
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